GENERAL NOTES

_DATE

SURVEY PLOTTED BY
DRAWN BY

TRACED BY

DESIGNED BY

QUANTITIES BY
CHECKED BY

4x4 RAFTERS @ 24 OC. -6
OUTSIDE
26 FASCIA— FACE OF
: ke e
X 46 BEAM1— X
. | - - i NALERS
i
- 6x8 BEAM—
K — gl I R -
s | = s 2x4 RIDGE BLK'G— N o
© P S S 1 PR IR A IR S R -
o] | 6x8 BEAN-1— “%A g%l@(;ERS
. H B - | eFfee ON BOTH SDES BOTTOM OF oY
_ AL
- J,LJ, _ o EEAM K : LJ_i / EAVE_FASCIA Ty
N L-- NOTE:
- | \\ /2%, BE
AT ALL l
246 FASCIA— m ROOF FRAMING -
OU{SiDEW ] t] » ] » ] » » \\U EDGES 4"‘3/ 4”¢ . 1 \\‘
FACE OF 7, 2-0 10-0 20" 7 THRU-BOLTS // : . \\ =
4xé RFTR | T, o e // | 1\ - %
PRO JR——
LINE Y
ROOF_FRAMING PLAN ~ TYPE 8 M) -emn. pac o N 3
" ] ] — - - Mid [
T a
73
5% 2
N 3/4" CHAMFER———— =z
~ EDGES B @
i— 12 -—j
50 PROPERTY UNE——L 2
SO S ! AN - S
. | I 45" BEVEL
o i RECYCLED PLASTIC s OUTSIDE i
~ ; LUMBER PANELS ! CORNERS“‘_‘\
I e | 1/2'R. EASED—— =
P~ e —————— T o 2-6x6| Eégzs BELOW ;
*c') !POSTS 4 5 i Lad i POSYS' ‘«‘; BEVEL // o sanin \‘ |
~ ! 7 ol I %o i \ 2
T i B I s TOP OF SIDEWALK ! o R EXIST'G: Y
FINISH— . SIDEWALK =
. : WANUFACTURED BENCH— RECYCLED— : o | B CONC. SIDEWALK S
o ! (SEE NOTE $A.4/SHT. £8) PLASTIC ! : i | #
™~ LUMBER \ | 7 | |
| PANELS ! < Y , N
. r———————————————————————— = — CURB N e 7 1/2" MIN. LEVELING
£ © ~ EPOXY MORTAR, TYP.
+ 2 UNDER ANCHOR —
BRACKET AND CONC.
CURB EDGE— m SECTION ~igYUPSE SSELTER
FLOOR PLAN TYPE B (M) - METAL PANEL ROOF w SCALE: 3/4” = '=0"  TYPE B (M) - METAL PAEL ROOF
SCALE: 3/8" = 1'-0" TYPE B (W) - WOOD SHINGLE ROOF TYPE B (W) = O S RO | 4 oF & ST
5‘/9‘3&&%““3 METAL PANEL ROOF WOOD SHINGLE ROOF l WOOD SHINGLE ROOF
d / e e A Lt -]
END CAP 19 i i &lf [f[l{i{ tgn“il%}ﬁ Wﬂsi r
| e Lﬁ%ﬁ i ﬁ”x ﬂh M T \
= | LT Lllet i ﬁLt I
= "'1 /"3 . 1
22 =N , =)
= o . 7 —
%gg le——PROPERTY ﬂﬁ lf/ ﬁ- ﬂ-» PROPERTY——] —
MZZ’Z’; LINE v v v LINE ==
1x3 RECYCLED—f/ l ! =
PLASTIC LUMBER %%} =
(1/8%2-1/8) | /% /,, e
s%% ot j—
6x6 POST, TYP: ,; | PLUM STRUCTURE TO l — .
%% ( HORIZON BOTH DIRECTIONS BENCH EXIST'G. CONC. l f:/,/’/;/’% | EXIST'G. CONC.
BTG, CONC. /=] B SIDEWALK™ ——\| SDEWAK—
I | LA
| TYP. END ELEV. FRONT FLEV. & REAR SIM TYP. END ELEV, L

TYPE B (W) METAL PANEL ROOFING
SCALE: 3/8" = 1'-0”

METAL PANEL ROOFING

TYPE B ) woon SHINGLE ROOFING
SCALE: 3/8" = 1'~0"

WOOD SHINGLE ROOFING

ORIGINAL
PLAN

NOTE BOOK

No

CHAMFER
CORNERS

6x6

POST

45 BEVEL
BEYOND

1/16" EXPANSION
GAP

et /4"
CHAMFER

LR = BV

1x3 RECYCLED
PLASTIC LUMBER

(7/8°x2-7/8")
FASTEN TO POST

W/ 2-CTRSK. FLATHD,

STAINLESS STEEL

SCREWS EA. SIDE

SIDE_PANEL DETAL
SCALE: 1-1/2" = 1'-0" AT TYPE B

TYPE "B”
BUS SHELTER

SHEET 5 OF 8 SHTS.

A ARCHITECTURAL NOTES

1. CARPENTRY
A RECYCLED PLASTIC LUMBER: HIGH DENSMY POLYETHYLENE PLASTIC LUMBER
PRODUCT —~ 'DURAWOOD' BY EAGLEBROOK COMPANIES, DISTRIBUTED BY
Janus et Cie PH. 800 245-2687 (OR APPROVED EQUAL), IN SIZES AS INDICATED
FOR SIDE PANELS, IN SQUARE EDGE PROFILE, IN “WEATHERED INTEGRAL
COLOR FINISH AND FASTEN WITH STAINLESS STEEL/
FLAT HEAD SCREWS.

B. ROOF SHEATHING: 5/8" T-11 PLYWOOD, RUF-SAWN DOUGLAS FIR, WITH
GROOVED PATTERN @ 4" O.C.

2. ROOFING
A. METAL PANEL ROOF: THROUGH FASTENED SHEET METAL PANELS, "MAXI-RIB" PROFILE AS
MANUFACTURED BY JORGENSEN STEEL & ALUMINUM (OR APPROVED EQUAL),
24 GA. STEEL WITH FACTORY APPLIED PRE-PAINTED EXTERIOR COLOR FINISH— *MAILE GREEN",
COATING, WITH STAINLESS STEEL SCREW/WASHERED FASTENERS. ACCESSORIES (RIDGE CAP, DUTCH
GUTTER, EAVE FLASHINGS, ETC.)~OF GALV. STEEL WITH MATCHING “MAILE GREEN" FACTORY APPLIED
PRE-PAINTED EXTERIOR COLOR COATING.

~B. WOOD SHINGLE ROOF: RED CEDAR SHINGLES, NO. 1, HAND
SPLIT AND RE~SAWN, FINISHED WITH 2 COATS OF THOMPSON'S WATER SEAL. ROOF ACCESSORIES
(DUTCH GUTTER, EAVE FLASHINGS, ETC.) SHALL BE OF GALV. STEEL WITH FACTORY APPLIED EXTERIOR
COLOR — FINISH - °"KIAWE BROWN® AS MANUFACTURED BY JORGENSEN STEEL AND
ALUMINUM OR APPROVED EQUAL, WITH STAINLESS STEEL HARDWARE FASTENERS,

3. PAINTING
A. WOOD: ALL EXPOSED SURFACES — 1 COAT BASE TANNIN BLEED PRIMER AND
2 COATS CABOT OV.T. SOLID COLOR STAN (OR APPROVED EQUAL)
~ FELD COLOR — 'DUNE GRAY' - 67.
~ ROOF FASCIA TRIMS TO MATCH RECYCLED PLASTIC LUMBER "WEATHERED REDWOOD".

B. EXPOSED METALS AND FASTENERS: 1ST. COAT AMERON GALVAPREP
PRIMER, 2ND. COATS AMERON AMERLOCK 400, 5.0 MILS DFT, 3RD COAT PSX 700 POLYSILOXANE
EPOXY, 5.0 MILS MDF, SHOP PAINTED WITH SPRAY APPLICATION TO ACHIEVE SPECIFIED
MIL THICKNESS OF 5.0 EXCEPT FASTENERS TO BE FIELD PAINTED (OR APPROVED EQUAL),
T0 MATCH CABOT'S "DUNE GRAY' — 67, EXCEPT DIAGONAL STEEL BRACKET AT TYPE A
TO MATCH RECYCLED PLASTIC LUMBER "WEATHERED REDWOOD™ COLOR.

4. MANUFACTURED BENCHES |
A RECYCLE DESIGN 'VICTORW' SERIES BENCH BY EAGLEBROOK COMPANIES,
DISTRIBUTED BY Janus et Cie PH. 800 245-2687 (OR APPROVED EQUAL),
BACKLESS BENCH, 72" LONG, IN 'WEATHERED REDWOOD' DURAWOOD SLAT FINISH,
GREEN FRAME, WITH ANTI-THEFT ANCHORING. PROVIDE SUBMITTAL OF ANCHORING
HARDWARE FOR APPROVAL.

B. STRUCTURAL NOTES

1. g%bl LOADS:
LVE LOAD 20 PSF
WIND VELOCITY 80 MPH, EXPOSURE D PER UBC 1994
SEISMIC ZONE 2A, PER UBC 1994
2. FOUNDATIONS

A ALL FOOTINGS SHALL BEAR ON FIRM, RECOMPACTED IN-STTE SOLLS.
B. SLABS ON GRADE SHALL BEAR ON 4° OF #3BFINE (ASTM C33, NO. 67 GRADATION) AT
OVER COMPACTED SUBASE. IF SOFT OR EXPANSIVE SOIL IS ENCOUNTERED, THE SOIL
SHALL BE REMOVED AND REPLACED WITH NON-EXPANSVE STRUCTURAL FILL AND
COMPACTED TO 90% OF MAXIMUM RELATVE DENSITY IN ACCORDANCE WITH ASTM
D—1557. THICKENED SLAB EDGES SHALL BE EMBEDED AT LEAST 8” BELOW LOWEST

ADJACENT GRADE.
C. ALLOWABLE SOIL BEARING PRESSURE SHALL BE 2000 PSF.

FED. ROAD STATE FED. AID FISCAL | SHEET TOTAL
DIST. NO. PROJ. NO. YEAR NO. SHEETS
HAWAI | HAW. |CMAQ-076-1(9)| 2005 | 54 64

. REINFORCED CONCRETE

A CONCRETE FOR FOOTINGS AND SIAB ON GRADE SHALL HAVE MINIMUM 28 DAYS
COMPRESSIVE STRENGTH F'C = 3000 PSI WITH MAXIMUM W/C RATIO = 0.64. THE
DELIVERY TICKETS SHALL STATE THE AMOUNT OF WATER THAT MAY BE ADDED TO
THE CONCRETE AT THE JOBSHE.

B. NOTIFY DEPT, OF TRANSPORTATION SERVICES, CONTRACTING OFFICER 3 DAYS PRIOR TO POURING

FOOTINGS AND SLABS.

C. CONTRACTOR SHALL SUBMIT CONCRETE MIX DESIGNS TO CONTRACTING OFFICER FOR REVIEW.

. RENFORCING STEEL

A, REINFORCING BARS SHALL CONFORM TO ASTM A615, GRADE 60. PROVIDE 43
%UE% (20" MINIMUM) LAP SPLICE AT ALL SPLICES, INTERSECTIONS, AND

B. THE FOLLOWING MINIMUM COVER SHALL BE PROVIDED FOR REINFORCEMENT:
CONCRETE CAST AGAINST AND PERMANENTLY
EXPOSED TO EARTH : 3
FORMED CONCRETE EXPOSED TO EARTH 7
CONCRETE EXPOSED TO THE WEATHER 1-1/2"

. TIMBER MEMBERS

A, ALL WOOD MEMBERS SHALL BE DOUGLAS FIR-LARCH, HI-BOR TREATED. ALL TIMBER
| ggéaﬁswm S~DRY, KD OR MC15. TREAT ALL CUT ENDS AS REQUIRED BY
B. ALL WOOD BEAMS AND POSTS SHALL BE NO. 2 GRADE OR BETTER; ROOF RAFTERS
SHALL BE NO. 2 GRADE OR BETTER,
C. PLYWOOD NAIUNG SCHEDULE:
1. ROOF PLYWOOD (5/8" THICK, C~D EXTERIOR, HI-BOR TREATED)
8d @ 4" AT PANEL EDGES
8d © 10" AT INTERMEDIATE FRAMING MEMBERS -
2. PLYWOOD SHALL BE LAID PERPENDICULAR TO FRAMING MEMBERS.
D. UNLESS OTHERWISE SHOWN, THE NAILING SCHEDULE TABLE 23-1-Q N THE 1994 UBC
SHALL BE FOLLOWED. COMMON GALVANIZED NALS SHAL BE USED.

E. PROVIDED AND INSTALL 1/4" DIAMETER X 5" LONG SCREWS AT EACH RAFTER SUPPORT.

CONNECT BEAM TO POST WITH 3/4" DIAMETER X12 LAG BOLT.
F. PROVIDED AND INSTALL 30§ PAPER SEPARATION BETWEEN WOOD AND CONCRETE.

. STRUCTURAL STEEL

A ALL STRUCTURAL STEEL PLATES AND SHAPES SHALL CONFORM TO ASTM A3 AND
SHALL BE HOT-DIPPED GALVANIZED.

B. BOLTS AND ANCHOR BOLTS SHALL CONFORM TO ASTM A307, AND SHALL BE HOT-
DIPPED GALVANIZED.

C. SMPSON LIGHT-GAGE CONNECTORS SHALL BE USED WHERE SHOWN,

MEMS REQUIRED TO BE SPECIALLY INSPECTED BY UBC SECT. 1701:
A STRAPS USED TO RESIST UPLIFT AND HOLD-DOWNS.

. ALL DIMENSIONS (INCLUDING HEIGHTS) SHALL BE VERIFIED BY THE CONTRACTOR. IF

THERE ARE DISCREPANCIES, THE CONTRACTING OFFICER SHALL BE

NOTIFIED IMMEDIATELY. AS A MINMUM, ALL CONSTRUCTION SHALL CONFORM TO
THE REQUIREMENTS OF AL APPLICABLE CODES AND REGULATIONS AND OF
STANDARDS REFERENCED ABOVE. FEATURES OF CONSTRUCTION SHOWN ARE TYPICAL
AND THEY SHALL APPLY GENERALLY THROUGHOUT FOR SIMILAR CONDITIONS. MODIFY
TYPICAL DETAILS AS DIRECTED TO MEET SPECIAL CONDIIONS. THE CONTRACTOR IS
RESPONSIBLE FOR PROVIDING TEMPORARY ERECTION REQUIRED FOR STRUCTURAL
STABILITY OF THE STRUCTURE DURING AL PHASES OF CONSTRUCTION.

CONTRACTOR SHALL SUBMIT IN WRITING ANY REQUEST FOR MODIFICATION TO THE
PLANS AND SPECIFICATIONS. UNLESS CHANGES ARE SUBMITTED IN WRIING AND
APPROVED BY THE DEPARTMENT OF TRANSPORTATION SERVICES, CHANGES OR
MODIFICATIONS TO THE PLANS AND SPECIFICATIONS BECOME THE RESPONSIBILITY
OF THE PERSON INATING SUCH CHANGES.

STATE OF HAWAI

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

BUS SHELIER DETAILS
FORT WEAVER ROAD WIDENING

SCALE: NOT TO SCALE

VICINITY OF AAWA DRIVE TO GEIGER ROAD

FEDERAL AID PROJECT NO. CMAQ—076-1(9)
DATE: April 1, 2005

SHEET No. 1

o4

OF 5 SHEETS




DATE

SURVEY PLOTTED BY

DRAWN BY
TRACED BY
DESIGNED BY
QUANTITIES BY
CHECKED BY

ORIGINAL

PLAN

NOTE BOOK

No

WOOD SHINGLE (ommme—30§ FELT
ROOFING ‘—l
[
= § 3/4%3"
| . { FASCIA TRIM
3 e
KE J‘[“

WOOD SHINGLE
ROOFING FASTEN 1x4
T SPACED

304 FELT NALERS W/

2-1/2" L
., WOOD SCREWS

5/8" T1-11 DF. OVER EACH

PLYWOOD SHEATHING 4x4 RAFTER

W/ GROOVE AGAINST

2x NALER DUTCH GUTTER
W/ CONCEALED

2x4 FASCIA FASTENERS

NAILER
2x6 FASCIA TRIM

GUTTER FASCIA 2 STAINLESS
SCREWS 3L @
EA. RAFTER
LOCATION

DOUBLE ROW

STARTER COURSE

3/4"%3" RAKE

FASCIA TRIM

30§ FELT

RAKE ELEV.

/2 WOOD SHINGLE

v ROOF DETAILS
SCALE: 1-1/2" = 1’0"

FED. ROAD FED. AID FISCAL | SHEET | TOTAL
DiST. No. | STATE

PROJ. NO. YEAR NO. SHEETS

HAWAI | HAW. | CMAQ-076-1(9)| 2005 | 55 64

PANEL:

5/8" T1-11 DF.

PLYWOOD SHEATHING
W/ GROOVE AGAINST
2x NAILER

2x4 FASCIA
NAILER

GUITER FASCIA

3/4"3" RAKE
FASCIA TRIM

RAKE ELEV. 2x6 FASCIA TRIM

a METAL PANEL
v ROOF DETAILS
SCALE: 1-1/2" = 1'-0"

8d @ 4", TYP.

-8d @ 4" BOTH
SIDES OF 2x
BLK'G 1/4°6x5" LAG
. SCREW @ EACH
MSTA 18 RIDGE 4xd RAFTER
STRAPS @ 48" RAFTER '
0.C. W/ 8-8d NALS
POST & BEAM——1 /|
W/ EASED EDGES &
1/2'R. N 3/4%0x 127 LAG
' BOLTS @ EACH
vP. W/ ¥ POST
EASED EDGES y
1/4R
RIDGE ' RAFTER
ANCHORING &t 1vee 8 BEAM CONNECTION ar vee 8
SCALE: 1-1/2" = 1'-0° SCALE: 1-1/2" = 1'-0"

GALV. 1/4” THK.
U x4-1/2"L

|8

e S —. |

3/4" LET IN
3%6 CROSS
BEAMS INTO

—4-3/479
THRU BOLTS

1x3 RECYCLED
PLASTIC LUMBER

3/47

—— 6°X6"X1/4” THK. GALV.

STL TUBE POST BASE W/ 6
3/8" THK. GALV. BOTT. PLATE

2-5/8"¢ BOLTS

4-5/8"0 BOLTSXS'L
(HOT DIPPED GALV.)
IN 3/4°9x3-1/2" MIN.
HOLES FILLED W/
EPOXY

VERTICAL
SECTION

(7/8x2-7/8" THRU BOLTS

POST & BEAM THRU BOLTS

W/ EASED EDGES

SECTION

RAFTER /EAVE CROSS BEAMS/ CROSS BEAMS,/EAVE

/ 7\ POST ANCHOR DETAIL s mwee s

BEAMS CONNECTION a7 wee 8
SCALE: 1-1/2" = 1'-0”

BEAM CONNECTION
SCALE: 1-1/2" = 1'=0"

POST CONNECTION ar wee 8
SCALE: 1-1/2" = 1-0"

\Z/ SCALE: 1-1/2" = 1'-0"

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

BUS SHELTER DETAILS

FORT WEAVER ROAD WIDENING
VICINITY OF AAWA DRIVE TO GEIGER ROAD

FEDERAL AID PROJECT NO. CMAQ-076-1(9)
SCALE: NOT TO SCALE DATE: April 1, 2005

SHEET No. 7 OF 3 SHEETS

95




¢ COL & FTG

DATE

SURVEY PLOTTED BY

DRAWN BY
TRACED BY
DESIGNED BY
QUANTITIES BY
CHECKED BY

ORIGINAL
PLAN

NOTE BOOK

No

4 ‘st No. | STATE | peoiNo. | YEAR | Mo | sweeTs
——2-10D E.S. HAWAN | HAW. | CMAQ-076-1(9)| 2005 | 56 64
TOE NAIL, TYPICAL 4104 EACH SOE
2x8 FASCIA ]
/// e \\\
\ | | Y ‘}N‘[’,M}_.’Tg"%gmw 1. CONCRETE 28-DAY COMPRESSIVE STRENGTH = 3,000 PSI.
sl 3 S S S S 31| ‘ 2. REINFORCING STEEL Fy = 60,000 PSI (#4 & LARGER)
: g &) & & &) & - fo Fy <4000 P51 (1)
© | l l | x 1 | 3. CMU TYPE ll, ASTM C90.
o S 2x4 2 & E: E E g 24 < RIDGE — 2x6 BLOCKING _{—CEDAR SHAKES, NO. 1 4. CMU GROUT 28-DAY COMPRESSIVE STRENGTH = 2,500 PSI.
? | A RIDGE CAP TYPE, ON 1"x4” NAILERS 5. MASONRY MORTAR, TYPE M.
= : ! 2x6 RIDGE BLOCK{L\IP | : = 1 9" ON CENTERS 6. ANCHOR BOLT, ASTM A307, GALVANIZED.
Z | o R f 4x8 BELO 8 o WA | ONE LAYER OF NO. 30 7. STEEL ANGLE, ASTM A36, GALVANIZED
SE| Q| e TTREAT 7 iz i J o —LBE FELT ON PLYWOOD' 8. 2x AND 4x WOOD MEMBERS, NO. 1 GRADE OR BETTER, D.F./LARCH.
33 SR i X 3 3 llira L S STARTER SHINGLE ol ‘ { 9. 3/4” PLYWOOD, T&G DOUGLAS FIR, STRUCT. 1, EXTERIOR TYPE, GRADE C-D.
o8 ] A, & LIS B o ALONG EAVES — 1 ” —3/4” PLYWOOD SHEATHING, 10. ALL WASHERS, NAILS, BOLTS, STEEL ANGLES & METAL CONNECTORS SHALL
| ~ \ 4x8 BELOW | DI\ - 24— SN 8d@6”, TYP. BE HOT-DIPPED GALVANIZED.
5 | y o | AZE —J 4 : 11. COLOR SCHEME:
. 2x4 I i ﬁgf_sm Eﬁoﬁ«EE L oxa CONN. SIM. TO SECT. "X=X" —|-/ ‘¢ TN ~7 SCAB 2x4 @ INT. ONLY A. GOLD: UNDERSIDE OF ROOF STRUCTURE, FASCIA.
© e | | ! | AR e 948 FASCIA B. BROWN: CROSSBEAM, TILE COLUMN, BENCH.
"| \\// \ / A .
8 % | % oo ovie cous. — ' BTN s oo Ao R oD oo
~ 2x6 B|LOCKING & 4x6 ©24” BETWN - 12. ALL LUMBER & PLYWOOD TO BE TERMITE TREATED (WOLMANIZED).
- A i l 4x6 OVER COL ‘ : 4x8 ON EACH SIDE OF COL. BOLTED ON
mogne g2 it W/2-5/8" DIA. GALV. ANCHOR BOLTS
e ‘j 1 } \ L_\_r: T At 1/4"x4"x4"x3 & 4x6 @24°+ FINHGRAD /2-5/ s GENERAL NOTES
Y GALV. ANGLE BETWEEN l i :
11/2 27— 43 CLIPS 1. ROOF LIVE LOAD: 16 PSF (ROOF SLOPE 6:12)
_9-10d E.S., TYP. / } 2x8 FASCIA, CONT. \ / / ok #3 12x12 CMU COL. (GROUT SOLID) 5 WND: VEL = 80 MPH (¢7UBC)
4'-6" 8-0" el 4-6 5/8" DIA. BOLT, _AI-SCf—\ ¢ Jon A N T 4—#6 VERT. BAR COLUMN _ EXP.=C
RASHER ] [/ /8 LAG BOLT, of € AB's l1 0 DGE _ 3. EARTHQUAKE: ZONE 2A (97UBC)
R N LEVEL NOTE: _ 2%6 SMPSON A35, TYp. | MUl CALV |4x8 BEAMI| 4~ w - #3108 ’g”
CONNECT 2x6 TO 4x6 WHERE SHOWN (L) PRE-DRILLE 2" CLR. TO
. WITH 2-"SIMPSON” LSTA9 HOLES ) #3 TES 46 DOWELS 100 EACH SoE- | 3—(1: 3dsifé)§N¢{,I;
N AL Laxs DETAIL "A” WWF 6x6—W2.9xW2.9 — < 4012 EW, T 1 S
% ROOF FRAMING PLAN NOT TO SCALE ° S ’
2x4 (EA. SIDE)—x , SCALE: 1/2" = 10" e
10406 #4 CONT.—v »
"SMPSON” LSTAS— 1\ -~ J£2 - BLKG.
}__—__—__ T ‘l l:t ]vy - %}/&;{}: <3 . T = ¢ = T ’/'(.){ ¢ T € )‘: < \x % )ﬁ\ aﬂ' Q .[ e "“——2X6
24 RAFTER P R N\ L e — ©Ld o] . 33 12
TN E ; L
| 2%6 v w a | 6 ™ / sMPSON" | || | w/ 5/8" BoLT
S§7/ - 4-10d EACH SIDE #4058 EW D Pl e \L | 26 *° LSTA9 ——E|| |/ (NOT Stown)
F | L o4 RAFTER L 4-0" (x10'-0") |\——12" BENDING, TYP : —— = 3
V L CENTERED ON COLUMN > : % - %L 4x6
FuUY T 1
/B\TYPICAL CROSS SECTION L5x3x1/4 NOT oo lol |
PLAN=DETAIL s 28 SHOWN FOR Q0 |
ASRTall SCALE: 1/2" = 1" = 0 &
SCALE: 1 1/2" = 1'=0 /B U | CLARITY i A
EDGE OF SLAB NOTE: 4-12d INTO 4x6, TYP.
| / AND BACK OF CURB WOOD SHAKE APPLICATION 2-12d, TYP. ,
EDGE OF ROOF ABOVE SHOULD CONFORM TO THE 1997 2-0"
[ UNIFORM BUILDING CODE, g 1
Z Y A = TABLE 15-B-2 \-
= 12x12 CMU
S | | o (ANSECTION COLUMNS
L | N \JSCALE: 1/2° = -0
e ; ; ———— — I S — 1| /—4x6@END,TYP.
: | ' : -
| Lo \
. ‘ AN 7 | SHAKE ROOF 5/8" DIA. THROUGH
o | \\\_ _(/ | B ACHOR BOLT "\ _#=0 3/4%s
=+ I ] -_(-twc—él:— ~~~~~~~ T T T (E- E()E | . Tl (GALV’) / 2x4 NAILER " 12x12 CMU
N g e D6 R O e rosr
< Z . P. »
: . ' : El : ! . : w| = \— 4x8x12"-0" EQ-L 16"l L E EgﬁgoN H =Tl .“{Y’::g:: ADD 2x6 2 gHO%'A.Bgﬂ-V. \ 2)(11 24” GAP, TYP.
. I 12x12 CMU P (S —16°L LEQ. | ADD 2x6 -l s ds™ ||BlockiNg  THROUGH 2 — 3/8" LAG BOLT!
] | %‘% | o | BLOCI‘JNG i 914 T ey ”»
] | : COLUMNS : | L ET ol | 1lisasd VERT 2x6 FASCIA=] K @ 2 1/2” o.C.
o | ! B 4 y —4x4 POST
3 | } 5 1 : L 12x12 CMU-" \.2x4 NAILER 2x6 BRACE- . ADD ERAE
| [ | N ; E;%TUZM%AU COLUMN (2_REQUIRED) m 2x6 BLOCKING
A L , N o /_
L P N _\ C \FRONT VIEW OF BENCH
| ] PLAN VIEW OF BENCH '
: 4\_.4” THICK CONCRETE : 11 1/4— 2’410 1/2" SCALE: 1/2" = 1'-0" USCALE: 1/2" = 1’-0"
B GRADE SLAB——— N BENCH '
el I - - - - =i =5 13/16” /
A I T “““““““““““““““““““““““ . _ , STATE OF HAWAII
_,J | L =t : o) ni | __/_J L\___ &: o *E /J DEPARTMENT OF TRANSPORTATION
\ . :L 2 / /_ CONCRETE SLAB ‘ HIGHWAYS DIVISION
EDGE, ALL AROUND NN 7 IR p [ BUS SHELTER DETAILS
AN ' 7/
0" 4'—6" 8’0" 4'-6" -0 5/8" DIA. THRU-BOLT —>~_ | __7 _[ILE COLUMN
19'—0” I,1’—0” 8'-0" 1'-0" FORT WEAVER ROAD WIDENING
! ‘ ! ! VICINITY OF AAWA DRIVE TO GEIGER ROAD
FOUNDATION PLAN FEDERAL AID PROJECT NO. CMAQ—-076-1(9)
SCALE: 1/2" = 1'=0" FRONT & REAR ELEVATION SCALE: AS NOTED DATE: April 1, 2005
SCALE: 1/2° = 1" - 0"
SHEET No. 5 OF 5 SHEETS

56




	054.tif
	055.tif
	056.tif

